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Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the fitle page of the answer-book by the candidate.

e Please eheck that this question paper contains 35 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i) @9 IIT T & |

(ii) YT GEIT1—10 TF UF 3% & & | 37 991 & I 20 Ve T 3795 7871 &4
qI8Y |

(iii) 599 G&IT 11 — 20 TF T 3H] & & | 57 J971 & It 40 915 & 3714 787 8§17
FN8T |

(iv) Y97 &I 21 30 TF UR 3 & & | 37 Fo7 & I 100 TG @ 3719% 757
gi4 F1ET |

(v) ¥ &I 31 - 35 TF B: 3% & & | 57 J%4 & IN 150 5 & 4% 721
gl Feq |

(vi) F¥7 GBI 30 FHfGT W SMYRT 397 & | §qF I 3794 IoR-gieawT 4
[eT1&T | '

General Instructions :
(i)  All questions are compulsory.

(it)  Questions number 1 =10 are of 1 mark each. The answers to these
‘quesiions should not exceed 20 words each.

(ii1) .'*-Questions number 11 —20 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

(iv) Questions number 21 — 30 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

(v)  Questions number 31 —35 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

(vi) Question number 30 is a map-based question. Write its answers in your
answer book.

1. “AT9EE 3ehl HigH &1 91 ? ]
What was ‘Operation Iraqi Freedom ?
. 2. gut ¥ 1 AU B ? ]
2 What is meant by hegemony ?
59/1/1 2
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3. fifafiga area 1 @&l 0 & q4: 3ol I-gieren | forfa . I
| TYH TP T 25 FFeR, 1943 H T1iUa foham T |

Correct the following statement and re-write 1in your answer-book :

U.N. was founded on 25 October, 1943.

4. & " T ANYE B ? 1
What does security imply ?

5.  ToaTSl ¥ w1 AW o1 ? ' I
What was meant by Princely States ?

6. TWad YRd HI IYH &I (Haia- 3YH i o7 ? ]
Who was the first Chief Election Commissioner of free India ?

7.  SNE WM hl TATYAT 1 I TS ? I
Why was Shah Comhisaion appointed ?

8. 1970 % G¥% H AECATS! HH-H TsT § §gd I9EwIelt o 2 I
In which Statesvere the Naxalites very strong in 1970s ?

9., Toushi Tqre &1 TEH AT UET FT AT 2 ]
What was the most novel aspect of Chipko Movement ?

10. = H T3S FTHI B 3R he Y& 53 ? . I
When did the era of coalition governments at the centre begin ?

11 ¥ 3¢ ¥ I A= owum e R B N % R e 4 7 2
How were the military .alliances beneficial to the smaller nations during
the Cold War ?

12. fvef Teeeud ud el e i faemum § geg = @ o 2 2

What was the main difference in the ideology of the Western alliance and
that of Eastern alliance ?

13. 1990 H, 3 & FIAT PHad I fhd JHR b HUAT 7T ? 3
How was Kuwait liberated from Iraq in 1990 ?

59/1/1 3 P.1EO.
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14. HH-8 97 guF fug, I 99 &1 T Tg-UsT SS9 §91d 8 7 , 4)(%:2

Which four common symbols make the European Union look like a
nation-state ?

15. Syt & fohegl g THiTaes I9Tal i Sg@ shitaiT | ' 1=

Mention any two political consequences of globalisation.

16. TS & &G, o Agcd ol 96T & YR T TST FAM sl ATETHdl 0
qet ? 2

After independence, why did the central leadership feel like carving out
states on the basis of language ?

17. SASEL % T9T YRd & 904 9 % S8 g gied o ? Xx1=2
On the eve of independence, which two models of modern development
did India have before it ?

18. | mulH W= Ag® i fagw Hifa & fohgi g T@ 3 Hi IR i | 2x1=2

Highl_ight any two major objectives of Prime Minister Nehru's foreign
policy.

19. TR=dl @ -3y el &1 3g@ Hia | 2x1=2

Mention any two party-based movements.

20. gforal st fohegl g1 Iq@ ANl 1 Ig@ hITT | * 2x1=2

Mention any two demands of the Dalits.

21. TE-UHA ¥ $IH-8 NYRYT god IR =R Wit & e sro I8 fia I3
61 TETy & a1g ot JEfE 7 2 4

Which core values keep non-alignment relevant even after the Cold War
has ended ? |

59/1/1 4
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22. U NP T F ®9 §, UG 9 ¥ Tofow AR FeAfow yHEl i
ST HINT | ' 4

Explain the political and diplomatic influence of European Union as a
supra-national organisation.

23. WRA hl & i WHITd o fohal I/ =i 6l =TT Hife | 4x1=4

Explain any four components of India’s security strategy.

24. 2005 H HIH-UY gRT B TP 1 s T s+ & foT¢ 3818 7w el |
¥ fopedl = =1 9uiA hifST | 4x1=4

Describe any four steps suggested by the member-states of the United
Nations (U.N.) in 2005 in order to make it more relevant.

25. ‘miEft duq & gt TmEf, gfEe] semewm g 1 39 $Y 6l e
HIfT | 4

‘Global + Commons have not only ecommon but differentiated
responsibilities.” Explain the statement.

26. WA ¥ 34110 shHfauy < =gt Hifsu | 4

Explain the resistance to globalisation in India.

27. 1989 - 1992 &% A, WH fopdl IR weEwqul HeanRal i sarean Hifs S
A hl TSHITd T SrEehle 9T 97 | 4x1=4

Explain any four crucial developments during 1989 — 1992 which left an
everlasting effect on the Indian politics.

28. IAUTT T qYT GL&T & TEf-yq fheal I UST & Aifd Hewsh gl &1
U HITT | v 4x]1=4

Describe any four Directive Principles of State Policy related to
international peace and security.

29, A9 HE dh TEAd & b TR 4 1975 — 1977 & 2, AGHIA § 9T
IRl ST GEIANT fohaT o1 ? STE ST | 4

How far do you agree that the government had misused its emergency
powers during 1975 — 1977 ? Explain.
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30. g yma % @ ARt d g5 =1 @) B)©)®) % g gwiw 1w § | 3
% T fi=9 § T arferem & w9 A7 ITgfeR § fofau ofit 77 oft fafau

foh 9 qd qu-wfaa &= o1 a1 fowes @ gwifea o 4x1=4
INDIA POLITICAL AND ADJACENT COUNTRIES HRA Tefas 3t g2 2w
??‘L;:h;:::-"‘-\ w M N H e H Won* 04
7 % _
e R
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Identify the States marked as @, , @ and CD) in the given outline
map of India. Write their correct names in your answer-book in the

tabular form as given below stating whether they were affected by
partition or were once a Union Territory :

INDIA POLITICAL AND ADJACENT COUNTRIES HARA woAfds 3R ggid) 29

L H 5 1w 0

Alphabets used Name of the State Affected by Partition or
were once a Union Territory

®
©
o)
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FIZ: ARG F97 FacT GIBEI GOl & 177 397 &I 30 & TIH W 3

Note :

31.

99/1/1

The following questions are for the BLIND CANDIDATES only in
lieu of Question No. 30 :

(%) TH QA FauE T & 99 fafan St vgat 99 mfta o= 9 | 92+9=4
(@) U adum TSl % AW fafan S 1947 & fawem & gwifaa g S |

(a) Which two present states were once Union Territories ?

(b) Write the names of two present states which were affected by the
partition of India in 1947.

INA 1961 | Hifoda d9 I Ig a1 ga1 @ o4t & 7l g &&=
HATHAY ek a1 & UPUfd fhee Sl &1 a&ar 9eie & Sm ... Hifsgs
|9 & Ad1 TAfehdT gead 9 &1 Sl §H & A% g F Y H 9g0H 6l HI
foran qon agET 4 foEmee d9d S | e H Eega §Y gR W B e
aTd A <l W IALTRAT I diH B I ol | 9 @ A R qEi T S
e 9] g &4 B T | UEH Rafa § g8 @ R 3 B ®mW | 3= =

‘FIET HEEE e & FI T S(ET T | 9N 31 AN § A9 AR G527

g4 & 91Y 9 f9v9 g9u 337 |

Fq fau T e Y eEgEs iy it R Ry T e F I e 3=

gferept §-faifan

94 :

(1) AT GRI ST W ABHAY § Hifadd ¢ 31 To=icid o1 ?

i) Il FHRETE & Ja™ q Hichar gyea 7 =11 31 2

(i) QHFI HEMIRAT ST Ig & & & o i fFaieran & off ? 3x2=6
AT

wﬁgw%ngqﬁménﬁﬁmzwélwtﬁﬁsﬁﬁmﬁ‘%aﬁ

61 TGS STt W | SfES Wdl i e 9TH & 9ol O AR AR i I

QT GE Higg 98 W | §9 9 @A 61 AEE S PR R | 8§

1999 ¥ Irfdsh Fehel TRl 341G 1989 I qoAT H Fal A9 A1 | GUAT

ST BT dl T2 Tl AT TAlTh 3Tkl T8 I3 dehicds el I&1 & I

off | U oA i QAT SFGEYT i HH H T8 fha1 T | SRl famdi &6

@IeH % SR SAEIR AN TRI6l | 98 0 | Heg-a7 99 & 9T 9T AT /=

8

=
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3N G HH-agH HME & IS AN I a1 6@ T I1 918 It T | 63 <M
T U AR @ (SIOFHYST ) 3WU 3R 36 A(Yehal MY Tiafafei
e e 4 & forn | Ffiertor 3 73 fawwarest i 5= foan | 9@ |ifawa gw
T e @ TSl 3R @Ee B9 ° 1 3 e A % e dran favsE
& T | Uga <l AR & faudia, 3@ gl IR fda @ % e sga wdh
anfdeh rguEan off |

SR fou MU gaw FI SEgES gfen qr A= fTU T ywEi % I I IW
yfegent 4 fefiau

9 : ,

() ! g1 B AH M ?

(i) GTfEH Gt Juelt =T Bt 8 2

(i) ATfEP Wl TN o THTH B & &1 ST 9L T [Q9id T97d 987 ?
(iv) i 3LY. (GDP) = foega &9 foifew |

(v) ‘Ot fEE & @icl’ 1 991 g0 2 7

(vi) | SfFavr 7 foiga 9adt i SFEEAr © 591 16U 8 2 6x1=6

In April 1961, the Soviet Union was worried that the United States
of America would invade Cuba and overthrow the Cuban President Fidel
Castro .... Nikita Khrushchev, the leader of the Soviet Union, decided to
convert Cuba into a Russian base. He placed nuclear missiles .... Three
weeks after the Soviet Union had placed the nuclear weapons in Cuba,
the Americans became aware of 1it. They became reluctant to do anything
that might lead to full scale war between the two countries .... A clash
seemed 1imminent in what came to be known as ‘Cuban Missile Cr.isis.’

The prospects of this clash made the whole world nervous.

Read the passage given above carefully and answer the questions that
follow : '

Questions :

(1) Why was the Soviet Union worried about America invading Cuba ?

99/1/1 9 R 50.
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(11) In response to the action taken by America, what did Nikita
Khrushchev do ?

(111) Why were the two super powers reluctant to the start of nuclear
war ?

OR

The value of the Russian currency declined dramatically. The rate
of inflation was so high that people lost all their savings. The collective
farm system disintegrated leaving people without food security, and
Russia started to import food. The real GDP of Russia in 1999 was below
what it was in 1989. The old trading structure broke down with no
alternative in its place. The old system of social welfare was
systematically destroyed. The withdrawal of government subsidies
pushed large sections of the people into poverty. The middle classes were
pushed to the periphery of society, and the academic and intellectual
manpower disintegrated or migrated. A mafia emerged in most of these
countries and started controlling many economic activities. Privatisation
led to new disparities. Post-Soviet states, especially Russia, were divided
between rich and poor regions. Unlike the earlier system, there was now
great economic Mmeguality between people.

Read the passage given above carefully and answer the questions that W
follow :

Questions :
(1) Name the Russian Currency.
(1) What is meant by ‘collective farming’ ?

(1) How did the disintegration of collective farming adversely affect
the Russian people ?

(iv) Give full-form of GDP.
~(v)  What does the withdrawal of subsidy mean ?

(vi) What does ‘the earlier system’ referred to in the passage mean ?

09/1/1 . | 10
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32. WY (TRY UREA wHIHUIE ®R f99a HITeHE) (SAARC), aféur ufsmms
<o g1 fohe TR gl d1eFl § 199 # @EA w i R | I3 T
Tsh 981 el 8 ? ATha it | 6

HAYAT

D1 e gR s 3nfds wg-vifs & 9 9 39T ? Aehad hifSu | 6

How 1s the South Asian Association for Regional Co-operation (SAARC) a
major regional initiative by South Asian States to evolve co-operation
through multi-lateral means ? Assess.

OR

How did China rise to be an economic super-power ? Assess.

83. 1947 H 9RG &1 fawrs" F g’ ? TWH (ol IR GROMHI hl SHTEAT

SIS | 2+4=6

HAGT
WA o EaA 8l | oieht 1966 b Toiidl Zal shl Yiuep! 9 T SIfeIT | 6
What caused partition of India in 1947 ? Explain its any four
consequences, -
OR
Highlight the role of opposition parties from independence of India to
1966.
34. 1970 % W H 3feu Mt i TWHR FH AHYT I H BT B: B A
e e 2 6x1=6
HAATT
1960 % Tuh ! HUY IS o Tgy H TaSihe d F1 AN 8 2 aishe A
$IUY T J 1 YfHhT TS 2 2+4=6

Which six factors contributed to the popularity of Indira Gandhi's
government in the decade of 1970s ?

OR

What does the term ‘Syndicate’ mean in the context of Congress Party of
the sixties ? What role did the Syndicate play in the Congress Party ?

99/1/1 11 RO,
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85. SH-3TCIA- ST hl 394 ATYHRI o Jfd TN Hd & difh d A Th 6

SAlha= sl TEATT ¥ ITeh! &1 TIME 8 ? SATEAT HifT | 6
Jruat

Rl sremaaTd wiidew B av B | G % sEER Rl @

FHER Hd U 39 HE GASET 71 ? 2+4=6

How do popular movements make people aware of their rights and
expectations, which they have from democratic institutions ? Explain.

OR

Describe the secessionist movement of Mizos. How, as per the provisions
of the Constitution, was it resolved on accommodation of diversities ?
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